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QUESTION 1

Refer to the exhibit, which contains the output of diagnose sys session list.
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If the HA ID for the primary unit is zero (0), which statement about the output is true?
A. This session cannot be synced with the slave unit.

B. The inspection of this session has been offloaded to the slave unit.

C. The master unit is processing this traffic.

D. This session is for HA heartbeat traffic.

Correct Answer: C

QUESTION 2

View the exhibit, which contains a partial routing table, and then answer the question below.

FGT # get router info routing-table all
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Assuming all the appropriate firewall policies are configured, which of the following pings will FortiGate route? (Choose
two.)
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A. Source IP address 10.1.0.24, Destination IP address 10.72.3.20.
B. Source IP address 10.72.3.27, Destination IP address 10.1.0.52.
C. Source IP address 10.72.3.52, Destination IP address 10.1.0.254.
D. Source IP address 10.73.9.10, Destination IP address 10.72.3.15.

Correct Answer: BC

QUESTION 3
Which statement about memory conserve mode is true?
A. A FortiGate exits conserve mode when the configured memory use threshold reaches yellow.

B. A FortiGate starts dropping all the new and old sessions when the configured memory use threshold reaches
extreme.

C. A FortiGate starts dropping new sessions when the configured memory use threshold reaches red
D. A FortiGate enters conserve mode when the configured memory use threshold reaches red

Correct Answer: C

QUESTION 4

Examine the following traffic log; then answer the question below. date-20xx-02-01 time=19:52:01
devname=master device_id="xxxxxxx" log_id=0100020007 type=event subtype=system pri critical vd=root
service=kemel status=failure msg="NAT port is exhausted."

What does the log mean?

A. There is not enough available memory in the system to create a new entry in the NAT port table.

B. The limit for the maximum number of simultaneous sessions sharing the same NAT port has been reached.
C. FortiGate does not have any available NAT port for a new connection.

D. The limit for the maximum number of entries in the NAT port table has been reached.

Correct Answer: B

QUESTION 5

A FortiGate is rebooting unexpectedly without any apparent reason. What troubleshooting tools could an administrator
use to get more information about the problem? (Choose two.)

A. Firewall monitor.
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B. Policy monitor.
C. Logs.
D. Crashlogs.

Correct Answer: CD
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